J RIS I H Gisde H bR B F R

IEIRHE : 2021 F4 16 H Bifsn : 100 RUMEHEE
BREMR  | fidigid ik sts T2 I 5 SCHBER AT POk E
IG{=E =32V POk TR 2 IHEREA 5 0
IHE @ 1. BEMD 2. @EEMD 3. —kMD 4. FHEEED
sk &, i Vi Hith ait | HTE e
HEAS — — — — — _ | puTE=E
(A7T) (B7T) (B7T) (A7) | (Brw) | (ABrT)
KR
10 10 10 100%
1 BAR R RS T, (R BB S BRI e 4, IR TE
MEFERWE | .
AR VE R
MENE | RS | SE | B | S SRR KR
BB EE TR RIEE RIS E iR
=R s Z\ Ny &L
MERK 25 | REE | 2 2 it 29 | RETIES.
1. BESEERE 1S ;
B HIE 3 3 2. MEEESIE LS ;
3. EHIERTIEERE 19, SERES.
i | 2 5 AR AR E AR E 25, 8
BARED
mMBEEE 1. ETHEIER3 S
1353 BThE | 4 4 2. 1R (MBZHERSEE) 19, 188
RBS,
1. MESRERSBRN 1S, H—TuH
_ 0.5% , =L ;
BfRRR | 4 4 2. ERERIEE 1S, FHEH 059 ;
3, IBATEMBSRRENRT 24> , MERID 1 9.

BUHAEZ EAR 1. BN HE i R B2 T, REEN RIS R A dr 22 4, IRE IR

P SRR

WE |—&| R | BreR |EvelassEir ez .

gy | d5hn | IBhE | (e [ ARE | RE | 9 | 9 T

859 | FoH | BUEIS | wrid sty | &k (4 {9‘515 1. RS RIETEREENDERE
$5FR kR 15 9 e O 2. =B ER = RIS ECEIRE

_1_



40 9 (15 9+ =gy ), WERNREE
.
o VR U 19 83 o 1. RIS R R RN |
[REtE AR AR 2. SRISTSER = RISFN B TIMRE
£=12 4% (12 5+ =HERAE), IIERNREE
%&0
i e 1. RS ISR |
iRV 2. SRS ER= RIS MTIRE
w65 (69 + =UHER M), MERNRBE
%&0
. 10 550510 H57 L. RH=RISTRTChAARIOER
PRAE D, SIS ERS SIS ST
w75 (7 9+ ZUHERA ), MERNRBE
%&0
. Sl T 1. R R AT AR
i IR (RN 2. SRIRTHER= RIS N TR
#1049 (10 3+ =ZUEHRAE) , AT REE
.
L i B REIER(10 1. RS RIS R MG HERR
== D, SRS ERS RIS T
;g;_n %104 (10 5+ =Zigha g ), IETNREE
BN 38
BT 10 1. R RIS R
EBRL 2. SURIRIRO B = RIS N T IE
35104 (10 3+ =ZUEHRAE) , AT REE
%&0
AT 5 1. ISR TR |
i D, SRS B S RIS T
RN (59 + USRI , MR ANMRBE
D %&0
MR35 | ppsexd #z | 100% [100% (10 1. RS RIS ERIERR
L=y psenie 2. =RIERDER= RIS HTEIIRE
S b oA (10 95+ =ZUEHRAE) , TSN REE
10 5= 7 B
&it | 85| 85 85
TN = = === e = e S e ST
2. ISITEROEIRE , ISR MTIREES , TERBEMNTE TR AR , BRISRERE
HMERGATAE_ R |
3. XERIGHMERSIIRERILBI 8 (XTHSREIR B TRmEN L );
4, WEIHERHMETSRN , SA=H KB , BOIATTREIE—ERR | FRATRINEEE | MRS EK
i8] : 100%—81%. 80%—51%. 50%—0%.,
5. MEESA “EEER 1, SRS, “EERR WTTNItS  AEETIE. 6l EREE=

NEEER Birl Bi¥ 804 Bix2 BiF 605 Bix3 Bit 755 ZIMBSXUED I (80+60+75)

+3=71.6 4, WEAN 725



